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Fully-worked Solutions

Practice 3

	 1	 A	 True
		  B	 False
		  C	 False
		  D	 False
		  Answer: A

	 2	 (a)	 500

		  (b)	 729

		  (c)	 814

		  (d)	 900 �

A perfect square

Not a perfect square

	 3	 	 36	= 62 
		  	144	= 122

		  	225	= 152

		  	324	= 182

		  Answer: A
	 4	 (a)	 2.6 	 (b)	 0.038
		  (c)	 11.9025	 (d)	 198.81
	 5	 (a)	 43 681	 (b)	 66.5856

		  (c)	 174.24	 (d)	 17 13
36

	 6	 (a)	 2	 (b)	 0.6

		  (c)  	 5
7

	 (d)	 2 2
3

	 7	 (a)	 4.123	 (b)	 0.097
		  (c)	 0.828	 (d)	 2.708

	 8	 (a)	 5.2732 0.36

		  (b)	 24.862 1 600

		  (c)	 0.6142 25

		  (d)	 392 625

	 9	 (a)		  3	 3.14  4
				   32	 3.142  42	 ✓

				    9	 3.142  16
		  (b)		  0.2	 0.27  0.3
				   0.22	 0.272  0.32	 ✗

				   0.04	 0.272  0.09
		  (c)		  16	 16.053  17
				   162	 16.0532  172	 ✓

				   256	 16.0532  289

Formative Practice

		  (d)		  45	 45.3  46
				    452	 45.32  462	 ✗

				   2 025	 45.32  2 116
	10 	 (a)		  48	  49
	  	  		  48	  49
	  	  			    7

	  	 (b)		  9.15	  9
	  	  		  9.15	  9
	  	  			    3

	  	 (c)		  143	  144
	  	  		  143	  144
	  	  			    12

	  	 (d)		  0.652	  0.64
	  	  		  0.652  	 0.64
	  	  			    0.8

	11	 (a) 	4  4.97  9
		   	 2  4.97  3
		  (b) 		169	 172  196
	  	 		  13	 172  14
		  (c) 		 0.04	 0.069  0.09
		   		  0.2	 0.069  0.3

	12	 (a)	 5
8

 × 5
8

 = 5
8

		  (b)	 40 × 10	 = 40 × 10
				    = 400
				    = 20
	13		  8	= 23

			  27	= 33

			  64	= 43

			  81	= 92 = 34

		  Answer: D
	14	 (a)	 (i)  		 (ii)	

				  

2 50

5 25

5 5
1

				    50 = 2 × 5 × 5

						    

2 216

2 108

2 54

3 27

3 9

3 3
1

						      216 = 6 × 6 × 6
		  (b)	 (i)	 50 ≠ 53 
				    50 is not a perfect cube.
			   (ii)	 216 = 63

				    216 is a perfect cube.

	15	 (a)	
3

27 = 3
		  (b)	 1.33 = 2.197

		  (c)	 3 –1 61
64

  = –1  1
4

✗

✓
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	16	

Relationship 
between cubes and 

cube roots

3
8  = 2 23 = 8

 –1 1
3 

3

= –210
27

0.7  
3

= 0.343

3
0.343   
= 0.7

3 –2 10
27

= –1 1
3

(a)

(b)

(c)

	17	 (a)	 53	= 5 × 5 × 5
				    = 25 × 5
				    = 125
		  (b)	 0.83	= 0.8 × 0.8 × 0.8
				    = 0.64 × 0.8
				    = 0.512

		  (c)	 –1  1
2 

3
	 = –1  1

2  × –1  1
2  × –1  1

2 
				    = –  3

2  × –  3
2  × –  3

2 
				    = 9

4
 × –  3

2 
				    = – 27

8

				    = –3 3
8

	18	 (a)	 333 = 35 937	 (b)	 (–6.8)3 = –314.432

		  (c) 	2  2
3 

3
 = 18 26

27
	 (d)	 –3 1

2
3
 = –42 78

	19	 (a)	
3

1 000 = 
3

103 = 10
	 	 (b)	

3
–0.008  = 

3 (–0.2)3  = –0.2

	20	 3 15 5
8

 	 = 3  125
8

 

				    = 3   5
2 

3

				    = 5
2

 

				    = 2 1
2

	21	 (a)	 3
24 2.480

		  (b)	 3 42  3
10

2.884
			 

		  (c)	 3 15 1
4

3.055

		  (d)	 3 28.51 3.484
			 
	22	 (a)	 2.73	  33

				     27

		  (b)	 (–5.3)3	  (–5)3

				     –125
		  (c)	 9.683	 103

				     1 000
	23	 (a)	

3
9 	  

3
8 	 ✗

				     2
		  (b)	

3
–65	  

3
–64	 ✓

				     –4
		  (c)	

3
200	  

3
216	 ✓

				     6
	24	 (a)		  4	< 4.1 < 5	 (b)	 −2 < −1.81 < −1
				   64	< 4.13 < 125		  −8 < (−1.81)3 < −1
		  (c)	 1 < 6 < 8	 (d)		 −64	< −42.1 < −27
			   1 < 

3
6  < 2			   −4	< 

3
–42.1 < −3

	25	 a3	 = 3 3
8

		  a	 = 3  3 3
8

 

			   = 3  27
8

 

			   = 3  3
2

3

			   = 3
2

b = 3
2

 + 1 = 5
2

Volume of cube B
= b3

= 5
2

3

= 125
8

= 15 5
8

	26	 (a)	 (–7)2 + 23	= 49 + 8
				    = 57
		  (b)	 25 × 

3
1 000	 = 5 × 10

				    = 50
		  (c)	 13 – 1213

	 = (13 – 11)3

				    = 23

				    = 8

		  (d)	 3 ×   1
2 

3
 +  2 7

9
  ÷ 

3
–8 	 = 3 × 1

2
 +  25

9
  ÷ (–2)

					     = 3
2

 + 5
3

 × 1
−2

					     = 3
2

 − 5
6

					     = 9 – 5
6

					     = 4
6

					     = 2
3

	 1	 225 = 152

		  289 = 172

		  729 = 272

		  Answer: C

	 2	  425
36

 	 =  169
36

 

				    = 13
6

				    = 2 1
6

		  Answer: B

Summative Practice



A3© EPH Publishing (M) Sdn. Bhd. (199801017497) 2025
Intensive Practice Mathematics Form 1

Fully-worked Solutions

	 3	 5.53	 = 5.52 × 5.5
		  	 = 30 × 5.5
		  	 = 165
		  Answer: B

	 4	 42 – 
3

–125 	 = 16 − (−5)
				    = 16 + 5
				    = 21
		  Answer: C

	 5	 2 1
2

2
 – 15

8
	 =  52

2
 – 13

8
 

			   	 = 25
4

 – 13
8

 

			   	 = 50 – 13
8

			   	 = 37
8

			   	 = 4 5
8

		  Answer: D

	 6	 (a)	
3

9.3  – 1.44 	 = 2.1 − 1.2
				    = 0.9
		  (b)	 (2.13 + 6.7)2	 = (9.3 + 6.7)2

				    = 162

				    = 256
	 7	 (a)	 6.82 = 46.24
		  (b)	 6.83 + 3.2 × 6.82	= 6.82 × (6.8 + 3.2)
				    = 46.24 × 10
				    = 462.4
	 8	 15 × 0.852 − 4.54 	 = 15 × 0.729 − 2.13
				    = 10.935 – 2.13
				    = 8.805
	 9	 (a)	 Perfect squares: 
			   121, 144, 169, 196, 225, 256, 289
			   Perfect cubes:
			   125, 216
		  (b)	 (i)	

3
123	  

3
125

				    	  5

			   (ii)	
3

–50	  
3

–64
				    	  –4
	10	 (a)	 52 × 43	= 25 × 64
				    = 1 600

		  (b)	 400 –  3   8
125

 	 = 20 – 2
5

				    = 100 – 2
5

				    = 98
5

				    = 193
5

	11	 (a) 	1.6 – 
3

–272
	 = (1.6 + 3)2

				    = 4.62

				    = 21.16

		  (b)	 7  × 28  – 3.4  × 3.4 	 = 196 – 3.4
					     = 14 – 3.4
					     = 10.6

	12 	 2
5

3 ×  4
9

  + 2
5

3 × 3   1
216

 	 = 2
5

3

  4
9

   + 3   1
216

 
				    = 8

125
 2

3
 + 1

6
				    = 8

125
 × 4 + 1

6

				    = 8
125

 × 5
6

				    = 4
75

	13	 Area of the shaded region
		  = 122 − 42 − 62

		  = 144 − 16 − 36
		  = 92 cm2


